26.

28.

30.

32.

2?10° — 2107 = 2(10%°) & 2%10° - z10° —2(10°) =0 <& 10%(a?—-z-2)=0 =
10* =0(never)orz? —z—2=0. Ifz? —z—-2=0,then (z —2)(z+1) =0 = =z=2,-1.
So the only solutions are x = 2, —1.

?* +ze®—e*=0 & e (e’+x-1)=0 = =0 (impossible)orz?+z—1=0.
Ifz?+z—-1=0,thenz = 'l—izﬁ So the solutions are z = :%Lg .

e —e?—6=0 <« (e=3)(e*+2)=0 = €%+ 2=0 (impossible)ore®—3 =0. If
e*—3=0,thene*=3 <« z=1In3~=1.0986. So the only solution is z ~ 1.0986.

e —12e7"-1=0 & €e'—-1-12e7"=0 & (e —-1-12¢7%)=0-¢" &

e —e"—12=0 <& (e*—4)(e®+3)=0 = €%+ 3 =0 (impossible) or e — 4 = 0.
Ifer ~4=0,thene”* =4 << z=In4~ 1.3863. So the only solution is z ~ 1.3863.



